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2. Lety = 2z + b be an equation of the tangent linetoy = 2> + 3atx = 1. Thenb = 2
3. Leth(x) = xf(x). If f(1) =2and f'(1) =1, then '(1) = _3_
4. Let f(x) = 2m. Then f'(2) = _0_

5. Let f(x) = |z|. Then f is not differentiable at z = _0
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10.

. Use the definition f'(a) = lim

. Find f'(2) for f(x) = (/& + 32) <5x2 — §>.

Use the position function s(f) = v/t 4+ 16 meters (= ) to find the velocity (i &) v(t)
attime ¢ = 2 seconds (§).

fla+h) - f(a)

to find f'(1) for f(x) = 3x + 1.

h—0 h
2, 2 <0
Compute the left-hand derivative D f(0) for f(z) = _
3, >0
h) — f(0
<Hint: The left-hand derivative D_f(0) = lim M)
h—0~ h

2 2 2
If f is differentiable at x = 2, evaluate lim /()] 5 /) :
T2 e —4

X

. Find 1/ (t) for h(t) = t(V/t + 3).

. Let f(z) = 323 + 22 + 5 and g(x) = 27 + 2. Find K (0) for h(z) = 2.

f()
g(z)

Let f(0) =3, £/(0) = 2,9(0) = ~1.4/(0) = L Find (0) for () = f (2)g()
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R 2.1 — ¥ 4L 13(b)
2/18
2 | f(1)=3 2.2 — b4T 1*
3 | D f(0)=0 9.2 — ¥ 3L 15
"2)f(2
, |1 )2f( ) 22— ¥ 23
25 . 3
5 | flx) = 7363/2 + 595—3/2 + 4522 24— ¥ 453
/ 4 1/3 13
6 | W(t)= 51" +3 2.4 — ¥ 3 13
(5t + 1223 — 32% — 62) (2 +2) — (2° + 32* — 23 — 32?%) - 22
7 "(z) = 24— % 42 15
f(x) (z +2)? ¢ AL
(%2 o LTI L)
/ 8 s34 _1/3y/.3 8/3 2/3 (9,2 33
8 f(x):(gx — 3% Jz° — 2+ 1)+ (2% — 22%/°) (32 — 1) 24— % 4833
9 | B0 =1 94— %ILA4 g
10 | (0)=1 2.4 — ¥ AL 217, 24°
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